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1. Doplňte druhou větu 2 až 5 vhodnými slovy včetně tučně vytištěného výrazu uvedeného 

za první větou tak, aby význam první věty zůstal zachován. Tvar daného výrazu nesmíte 

měnit. Stažený tvar (isn´t, hasn´t atd.) je považován za 1 slovo. 

 

Příklad: 

               It is more difficult to express some feelings than others.                                       easier 

               Some feelings   are easier to express than    others. 

 

 

 

 

 

 

 

 

 

1. They would prefer it if nobody else knew what their daughter did last night.                   want 

     They do not _________________________________ what their daughter did last night. 

 

2. They could not understand the speaker because she spoke too quickly.                                too 

     The speaker spoke _____________________________________________ understood. 

 

3. The goods may be expensive, so take more money.                                                            case 

    Take more money in ______________________________________  expensive. 

 

4. Her husband forgot to pay the rent.                                                                           remember 

    Her husband ______________________________________________ the rent. 

 

5. Some time ago she asked him: “What time are you leaving?”                                               he 

    The other day she asked him _____________________________________ . 

 

6. They stole a car and did a lot of damage too.                                                                      they 

     Not ________________________________   a car but they also did a lot of damage. 

 

7. It is time to cancel the trip around the world.                                    you 

    It is time _______________________________ around the world. 

 

8. It was wrong of us to bring those bottles of wine.                                                           should 

    We ________________________________________ those bottles of wine.  

 

9. I regret not catching the earlier train.                                                                                  wish 

    I ____________________________________________________ the earlier train.  
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10. They will possibly ask you for your travel documents.                                                   show                                              

      You _________________________________ your travel documents. 

 

11. He does not send many letters these days.                                                                     hardly 

      He _____________________________________ these days. 

 

12. When did he start to sit on that bench?                                                                              long 

      How ___________________________________________ on that bench? 

  

13. She has hired some neighbours to redecorate her flat.                                                        her 

      She ___________________________________ redecorated. 

 

14. His wife got upset because she had not got any flowers.                                        because of 

      His wife got upset _______________________________ any flowers. 

 

15. Read the text if you want to get the information.                                                           unless 

      You ____________________________________ you read the text. 

 

16.  She prefers dancing to hiking.                                                                                       rather 

       She _______________________________________hike. 

 

17. It looks as if Jane has arranged everything.                                                                    seems 

      Jane __________________________________________ everything. 

 

18. A change of your lifestyle would do you good.                                                                were 

      If I ___________________________________________ your lifestyle. 

 

19. Getting up early is a new experience for their son.                                                           used 

      Their son _______________________________________up early. 

 

20. Mary was the only one who did not enjoy the party.                                                      apart 

      The party was enjoyed ________________________________________ Mary. 
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2. Z daných možností vyberte správnou variantu. Písmeno správné odpovědi zaneste do 

sloupce vpravo ke správnému číslu. Jiná odpověď NEBUDE hodnocena. 

Vaše 

odpověď 

 

1. Playing any games in the flower garden is …...  . 

a) defended b) dismissed c) forbidden d) refused   

 

2. Students’ progress will be ….. in three months’ time. 

a) counted b) enumerated  c) evaluated d) priced   

 

3. John had injured his arm badly and had to keep it in a …… for several weeks. 

a) cradle b) litter c) sling d) stretcher   

 

4. We must go now. Would you mind asking the waiter for the …… ? 

a) account b) bill c) charge d) price    

 

5. When Helen twisted her ankle, John carried her home on his …… . 

a) shoulders b) knees c) hand d) armies    

 

6. Alice let the new student ……. next to her. 

a) sit  b) to sit c) sat  d) sitting    

 

7. The poor cat was …… at the top of the apple tree. 

a) bend b) climbed c) fixed d) stuck    

 

8. Your pronunciation would improve if you ……. with a CD player. 

a) exercised b) practised c) repeated d) train     

 

9. I never wear grey because it does not …… me. 

a) assist b) fit c) match d) suit      

 

10. Students in hostels are …… to keep their rooms clean and tidy. 

a) desired b) expected c) hoped d) wanted     

 

11. If I …… in his shoes, I would not do it again. 

a) am  b) were c) would be d) should be    

 

12. Her phone must be out of order. We have been unable to …… her. 

a) arrive at b) meet c) reach d) transmit    

 

13. The …… of Picasso´s paintings finishes next week. 

a) demonstration b) exhibition    c) show d) spectacle   

 

14. “My friend Paul is not married.”  “ …... I.” 

a) Neither do  b) Neither can c) Neither am  d) So am  

 

15. We ….. to announce a further delay in the departure of the next flight to London. 

a) apologise b) mourn c) regret d) repent    

 

 

 

 

1. ____ 
 

 

2. ____ 

 
3. ____ 

 

 

4. ____ 
 

 

5. ____ 
 

 

6. ____ 
 

 

7. ____ 
 

 

8. ____ 

 
 

9. ____ 
 

 

10. ____ 
 

 

11. ____ 
 

 

12. ____ 

 

 

13. ____ 
 

 

14. ____ 
 

 

15. ____ 
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16. You have …… lovely old house! 

a) so b) such  c) such a d) so much     

 

17. This beautiful armchair has been in our family for two centuries and is now very ……  . 

a) dear  b) expensive c) precious d) valuable    

 

18. Mr Smith was so …… at maths at school that he became the youngest student ever to be 

accepted by a college. 

a) brilliant b) hopeful c) keen  d) proud     

 

19. Our grandmother always puts a …… of chocolate on the cake. 

a) colour b) cover c) layer d) level    

 

20. Their old neighbour worked as a …… . 

a) night watchman b) watch night       c) night watch d) watching night  

 

21. “Get out of my garden, you nasty kids!” the man shouted, shaking his ….. at the children. 

a) toe  b) fist  c) hand d) head    

 

22. A shop-…… is someone who steals from shops and stores. 

a) carrier b) lifter c) picker d) thief     

 

23. I usually go to the mountains on Saturdays. I did not …… before. 

a) used to go b) use to go c) used to going d) use to going  

 

24. Please, put your empty cigarette packets in the …… bins provided. 

a) deposit b) junk  c) litter  d) scrap    

 

25. Doctor, can you …… a good pill against airsickness? 

a) advice b) propose c) recommend  d) suggest   

 

26. …… I would like to say how pleased I am to be here. 

a) Earliest b) First  c) Foremost  d) Initial   

 

27. With rucksacks on their backs, the hitchhikers …… on their holiday. 

a) got out  b) put off c) set for d) set off   

 

28. They tried to …… their disappointment at losing the match by cheering the winner loudly. 

a) hide  b) masque c) shield d) mist     

 

29. The police said there was no sign of a …… entry even though the house had been burgled. 

a) broken b) burst c) forced d) smashed    

 

30. Good morning. Here …… today´s news. 

a) are  b) is  c) give  d) have been  

   

 

 

 

 

16. ____ 
 

 

17. ____ 

 
 

18. ____ 
 

 

 

19. ____ 
 

 

20. ____ 

 
 

21. ____ 
 

 

22. ____ 

 
23. ____ 

 

 

24. ____ 
 

 

25. ____ 
 

 

26. ____ 
 

 

27. ____ 
 

 

 

28. ____ 
 

 

29. ____ 
 

 

30. ____ 
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3. Přečtěte si pečlivě následující text. Některé řádky jsou bez chyby, v jiných je jedna chyba, protože 

obsahují jedno slovo navíc. Je-li řádek bez chyby, napište na patřičné místo vedle řádku nulu (0). 

Obsahuje-li řádek slovo, které tam nesmí být, napište tento výraz na patřičné místo vedle řádku a 

rovněž jej v textu podtrhněte. Řádky 1 a 2 jsou příklady.   
 

 

To Kill the Past (an extract) from The Picture of Dorian Gray by Oscar Wilde 
 

 

1. It was a lovely night. He walked home, with his coat on his arm, smoking  

2.  his cigarette. Two young men in evening dress passed him. He has heard one  

3. of them whisper to the other, ‘This is Dorian Gray’. He remembered of how  

4.  pleased he used to be when he was stared at, or talked about. He was  

5.  tired of hearing his own name now. When he did reached home, he found his  

6.  servant waiting up for him. He sent him to bed, and threw up himself down  

7.  on the sofa in the library. He began to think about some of the things  

8.  that Lord Henry had said to him. Was it really true that for one could never  

9.  change? There had been a time when he had to been good and innocent.  

10. He had corrupted himself, and was become a terrible influence on others.  

11. He had even got pleasure from this corruption. Yet his a soul had once  

12. been the purest of all. Was all that been gone? Was there no hope for him?  

13. In one terrible moment of passion, he had asked to stay of young for all  

14. time. All his failure had been because out of that. He had not been 

15. punished, but perhaps punishment was what he had needed. Punishment is 

16. cleaned the soul. The mirror that Lord Hendry had given to him, so many 

17. years ago now, was standing on the table. He picked it up, remembering it 

18. that horrible night from when he had first noticed the change in the picture. 

19. Once, someone who had loved him passionately had written him a mad of 

20. letter. It had ended with up these words: ‘The world is changed because 

21. you are made in of gold.’ He repeated them to himself and suddenly realized 

22. that he is hated his own beauty. Throwing the mirror on the floor, he broke 

the glass into little pieces with his foot. It was his beauty that had spoiled him. 

 

 

 

 

 

 

 

 

1. _______0________ 

2. ______has______ 

3. ________________ 

4. ________________ 

5. ________________ 

6. ________________ 

7. ________________ 

8. ________________ 

9. ________________ 

10. _______________ 

11. _______________ 

12. _______________ 

13. _______________ 

14. _______________ 

15. _______________ 

16. _______________ 

17. _______________ 

18. _______________ 

19. _______________ 

20. _______________ 

21. _______________ 

22. _______________ 
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4. Ze čtyř možností vyberte jedinou správnou. Písmeno správné odpovědi zaneste do 

sloupce vpravo ke správnému číslu. Jiná odpověď NEBUDE hodnocena. 

Vaše 

odpověď 

 

1. What is the population of the United Kingdom? 

a) 24 million 

b) 36 million 

c) 60 million 

d) 323 million 

 

2. What is the biggest city in the USA? 

a) Los Angeles 

b) Chicago 

c) Dallas 

d) New York City 

 

3. What is the national bird of the USA? 

a) the lark 

b) the swallow 

c) the bald eagle 

d) the raven 

 

4. The Severn is the longest river in 

a) Canada 

b) the United Kingdom 

c) New Zealand 

d) the Republic of Ireland 

 

5. Which city is NOT in Scotland? 

a) Glasgow 

b) Edinburgh 

c) Aberdeen 

d) Cardiff 

 

6. Which ocean washes western Australia? 

a) the Indian  

b) the Pacific 

c) the Antarctic 

d) the Atlantic 

 

7. Which century did Oliver Cromwell live in? 

a) the 14
th

  

b) the 15
th

  

c) the 17
th

  

d) the 18
th

  

 

8. Who was the 28
th

 president of the USA? 

a) Victor Wilson 

b) Vaugh Wilson 

c) Ulrich Wilson 

d) Woodrow Wilson 

1. ____ 

 

 

 
2. ____ 

 

 

 

 

3. ____ 

 

 

 

 

4. ____ 

 
 

 
 

 

5. ____ 

 

 

 

 

6. ____ 

 

 

 

 

7. ____ 

 

 

 

 

 

8. ____ 
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9. Which US president had to resign because of the Watergate scandal? 

a) Richard Nixon 

b) John F. Kennedy 

c) Bill Clinton 

d) Lyndon Johnson 

 

10. Stephen Hawking was a famous British 

a) playwright 

b) athlete 

c) physicist  

d) actor 

 

11. How many members did the Beatles have? 

a) 3 

b) 4 

c) 5 

d) 6 

 

12. Who is the author of The Raven? 

a) Edgar Allan Poe 

b) Jane Austen 

c) Charles Dickens 

d) George Orwell 

 

13. Which Shakespeare play does the character of Shylock appear in? 

a) Hamlet 

b) Othello 

c) Richard III 

d) The Merchant of Venice 

 

14. Which of these is a novel? 

a) Othello 

b) Beowulf 

c) Fahrenheit 451 

d) Death of a Salesman 

 

15. Which novel is this quote from?  

“I believe there are monsters born in the world to human parents.” 

a) East of Eden 

b) Who´s Afraid of Virginia Woolf 

c) Emma 

d) The Pickwick Papers 

 

16. Who was NOT the Prime Minister of the UK? 

a) Tony Blair 

b) Margaret Thatcher 

c) Gordon Brown 

d) Joe Biden 

 

 

9. ____ 

 

 

 

 

10. ____ 

 
 

 

 

11. ____ 

 

 

 

 
 

12. ____ 

 

 

 

 

13. ____ 

 

 
 

 

14. ____ 

 

 

 

 

15. ____ 

 

 

 

 

 

16. ____ 
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17. When did the USA join World War II? 

a) 1917 

b) 1938 

c) 1941 

d) 1944 

 

18. How many children does Charles, Prince of Wales have? 

a) 2 

b) 3 

c) 4 

d) 5 

 

19. Los Angeles Lakers is a famous 

a) Ice hockey team 

b) Basketball team 

c) American football team 

d) Soccer team 

 

20. How many stripes are there on the US flag? 

a) 6 

b) 7 

c) 13 

d) 50 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

17. ____ 

 

 
 

 

18. ____ 

 

 
 

 

19. ____ 

 

 

 

 

20. ____ 
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2. Z daných možností vyberte správnou variantu. Písmeno správné odpovědi zaneste do  

sloupce vpravo ke správnému číslu. Jiná odpověď nebude hodnocena. 

60b 

 

 

1. Playing any games in the flower garden is …c...  . 

a) defended b) dismissed c) forbidden d) refused   

 

2. Students’ progress will be …c... in three months’ time. 

a) counted b) enumerated  c) evaluated d) priced   

 

3. John had injured his arm badly and had to keep it in a …c… for several weeks. 

a) cradle b) litter c) sling d) stretcher   

 

4. We must go now. Would you mind asking the waiter for the …b… ? 

a) account b) bill c) charge d) price    

 

5. When Helen twisted her ankle, John carried her home on his …a… . 

a) shoulders b) knees c) hand d) armies    

 

6. Alice let the new student …a…. next to her. 

a) sit  b) to sit c) sat  d) sitting    

 

7. The poor cat was …d… at the top of the apple tree. 

a) bend b) climbed c) fixed d) stuck    

 

8. Your pronunciation would improve if you …b…. with a CD player. 

a) exercised b) practised c) repeated d) train     

 

9. I never wear grey because it does not …d… me. 

a) assist b) fit c) match d) suit      

 

10. Students in hostels are …b… to keep their rooms clean and tidy. 

a) desired b) expected c) hoped d) wanted     

 

11. If I …b… in his shoes, I would not do it again. 

a) am  b) were c) would be d) should be    

 

12. Her phone must be out of order. We have been unable to …c… her. 

a) arrive at b) meet c) reach d) transmit    

 

13. The …b… of Picasso´s paintings finishes next week. 

a) demonstration b) exhibition c) show d) spectacle   

 

14. “My friend Paul is not married.”  “ …c... I.” 

a) Neither do  b) Neither can c) Neither am  d) So am  

 

15. We …c… to announce a further delay in the departure of the next flight to London. 

a) apologise b) mourn c) regret d) repent    

 

 

 

 

1. C 
 

 

2. C 

 
3. C 

 

 

4. B 
 

 

5. A 

 

6. A 
 

 

7. D 
 

 

8. B 

 
9. D 

 
 

10. B 
 

 

11. B 
 

 

12. C 
 

 

 

13. B 
 

 

14. C 
 

 

15. C 
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16. You have …c… lovely old house! 

a) so b) such  c) such a d) so much     

 

17. This beautiful armchair has been in our family for two centuries and is now very …d…  . 

a) dear  b) expensive c) precious d) valuable    

 

18. Mr Smith was so …a… at maths at school that he became the youngest student ever to be 

accepted by a college. 

a) brilliant b) hopeful c) keen  d) proud     

 

19. Our grandmother always puts a …c… of chocolate on the cake. 

a) colour b) cover c) layer d) level    

 

20. Their old neighbour worked as a …a… . 

a) night watchman b) watch night       c) night watch d) watching night  

 

21. “Get out of my garden, you nasty kids!” the man shouted, shaking his …b.. at the children. 

a) toe  b) fist  c) hand d) head    

 

22. A shop-…b… is someone who steals from shops and stores. 

a) carrier b) lifter c) picker d) thief     

 

23. I usually go to the mountains on Saturdays. I did not …b… before. 

a) used to go b) use to go c) used to going d) use to going  

 

24. Please, put your empty cigarette packets in the …c… bins provided. 

a) deposit b) junk  c) litter  d) scrap    

 

25. Doctor, can you …c… a good pill against airsickness? 

a) advice b) propose c) recommend  d) suggest   

 

26. …b… I would like to say how pleased I am to be here. 

a) Earliest b) First  c) Foremost  d) Initial   

 

27. With rucksacks on their backs, the hitchhikers …d… on their holiday. 

a) got out  b) put off c) set for d) set off   

 

28. They tried to …a… their disappointment at losing the match by cheering the winner loudly. 

a) hide  b) masque c) shield d) mist     

 

29. The police said there was no sign of a …c… entry even though the house had been burgled. 

a) broken b) burst c) forced d) smashed    

 

30. Good morning. Here …b… today´s news. 

a) are  b) is  c) give  d) have been  

   

 

 

 

 

16. C 
 

 

17. D 

 
 

18. A 
 

 

 

 

19. C 
 

 

20. A 
 

 

21. B 
 

 

22. B 
 

 

23. B 
 

 

24. C 
 

 

25. C 
 

 

26. B 
 

 

27. D 
 

 

28. A 
 

 

29. C 
 

 

30. B 
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3. Přečtěte si pečlivě následující text. Některé řádky jsou bez chyby, v jiných je jedna chyba, protože 

obsahují jedno slovo navíc. Je-li řádek bez chyby, napište na patřičné místo vedle řádku nulu (0). 

Obsahuje-li řádek slovo, které tam nesmí být, napište tento výraz na patřičné místo vedle řádku a 

rovněž jej v textu podtrhněte. Řádky 1 a 2 jsou příklady.   

To Kill the Past (an extract) from The Picture of Dorian Gray by Oscar Wilde 
 

 

1. It was a lovely night. He walked home, with his coat on his arm, smoking  

2.  his cigarette. Two young men in evening dress passed him. He has heard one  

3. of them whisper to the other, ‘This is Dorian Gray’. He remembered of how  

4.  pleased he used to be when he was stared at, or talked about. He was  

5.  tired of hearing his own name now. When he did reached home, he found his  

6.  servant waiting up for him. He sent him to bed, and threw up himself down  

7.  on the sofa in the library. He began to think about some of the things  

8.  that Lord Henry had said to him. Was it really true that for one could never  

9.  change? There had been a time when he had to been good and innocent.  

10. He had corrupted himself, and was become a terrible influence on others.  

11. He had even got pleasure from this corruption. Yet his a soul had once  

12. been the purest of all. Was all that been gone? Was there no hope for him?  

13. In one terrible moment of passion, he had asked to stay of young for all  

14. time. All his failure had been because out of that. He had not been 

15. punished, but perhaps punishment was what he had needed. Punishment is 

16. cleaned the soul. The mirror that Lord Henry had given to him, so many 

17. years ago now, was standing on the table. He picked it up, remembering it 

18. that horrible night from when he had first noticed the change in the picture. 

19. Once, someone who had loved him passionately had written him a mad of 

20. letter. It had ended with up these words: ‘The world is changed because 

21. you are made in of gold.’ He repeated them to himself and suddenly realized 

22. that he is hated his own beauty. Throwing the mirror on the floor, he broke 

the glass into little pieces with his foot. It was his beauty that had spoiled him. 

 

 

 

 

 

 

40 b. 

 

1. _______0________ 

2. ______has_______ 

3. _______of_______ 

4. _______0________ 

5. ______did_______ 

6. ______up________ 

7. _______0________ 

8. ______for_______ 

9. ______to________ 

10. ____was________ 

11. ______a________ 

12. ____been_______ 

13. _____of________ 

14. _____out_______ 

15. ______is_______ 

16. ______0________ 

17. ______it_______ 

18. ____from_______ 

19. ______of_______ 

20. ______up________ 

21. _____in________ 

22. _____is________ 
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4. Ze čtyř možností vyberte jedinou správnou. Písmeno správné odpovědi zaneste do 

sloupce vpravo ke správnému číslu. Jiná odpověď nebude hodnocena. 

40 b 

1. What is the population of the United Kingdom? 

a) 24 million 

b) 36 million 

c) 60 million 

d) 323 million 

 

2. What is the biggest city in the USA? 

a) Los Angeles 

b) Chicago 

c) Dallas 

d) New York City 

 

3. What is the national bird of the USA? 

a) the lark 

b) the swallow 

c) the bald eagle 

d) the raven 

 

4. The Severn is the longest river in 

a) Canada 

b) the United Kingdom 

c) New Zealand 

d) the Republic of Ireland 

 

5. Which city is NOT in Scotland? 

a) Glasgow 

b) Edinburgh 

c) Aberdeen 

d) Cardiff 

 

6. Which ocean washes western Australia? 

a) the Indian  

b) the Pacific 

c) the Antarctic 

d) the Atlantic 

 

7. Which century did Oliver Cromwell live in? 

a) the 14
th

  

b) the 15
th

  

c) the 17
th

  

d) the 18
th

  

 

8. Who was the 28
th

 president of the USA? 

a) Victor Wilson 

b) Vaugh Wilson 

c) Ulrich Wilson 

d) Woodrow Wilson 

 

1. C 

 

 

 
2. D 

 

 

 

 

3. C 

 

 

 

 

4. B 

 
 

 
 

 

5. D 

 

 

 

 

6. A 

 

 

 

 

7. C 

 

 

 

 

 

8. D 
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9. Which US president had to resign because of the Watergate scandal? 

a) Richard Nixon 

b) John F. Kennedy 

c) Bill Clinton 

d) Lyndon Johnson 

 

10. Stephen Hawking was a famous British 

a) playwright 

b) athlete 

c) physicist  

d) actor 

 

11. How many members did the Beatles have? 

a) 3 

b) 4 

c) 5 

d) 6 

 

12. Who is the author of The Raven? 

a) Edgar Allan Poe 

b) Jane Austen 

c) Charles Dickens 

d) George Orwell 

 

13. Which Shakespeare play does the character of Shylock appear in? 

a) Hamlet 

b) Othello 

c) Richard III 

d) The Merchant of Venice 

 

14. Which of these is a novel? 

a) Othello 

b) Beowulf 

c) Fahrenheit 451 

d) Death of a Salesman 

 

15. Which novel is this quote from?  

“I believe there are monsters born in the world to human parents.” 

a) East of Eden 

b) Who´s Afraid of Virginia Woolf 

c) Emma 

d) The Pickwick Papers 

 

16. Who was NOT the Prime Minister of the UK? 

a) Tony Blair 

b) Margaret Thatcher 

c) Gordon Brown 

d) Joe Biden 
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17. When did the USA join World War II? 

a) 1917 

b) 1938 

c) 1941 

d) 1944 

 

18. How many children does Charles, Prince of Wales have? 

a) 2 

b) 3 

c) 4 

d) 5 

 

19. Los Angeles Lakers is a famous 

a) Ice hockey team 

b) Basketball team 

c) American football team 

d) Soccer team 

 

20. How many stripes are there on the US flag? 

a) 6 

b) 7 

c) 13 

d) 50 

 

 

 

 

 

 

Bodové hodnocení: 

Část 1 

- Správná odpověď max. 3 body 

- Max. 60 bodů 

Část 2 

- Správná odpověď 2 body 

- Max. 60 bodů 

Část 3 

- Správná odpověď 2 body 

- Max. 40 bodů 

Část 4   

- Správná odpověď 2 body 

- Max. 40 bodů 
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